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aho;g;ghzk; tyaf;fy;tp mYtyfk; 
myFg; guPl;ir - 02 

juk; - 10 tpQ;Qhdk; Neuk; :- 40 epkplk; 

myF :- Neu;Nfhl;L ,af;fk; 

 kpfg; nghUj;jkhd tpiliaj; njupT nra;f. 

01) xU Gs;spapypUe;J ,d;DnkhU Gs;spf;F Fwpj;j jpirapy; Vw;gLk; epiykhw;wk; 

vt;thW miof;fg;gLk;? 

(1) J}uk; (2) Ntfk; (3) ,lg;ngau;r;rp (4) fjp 
 

02) gpd;tUtdtw;Ws; fhtpf;fzpaj;ij Fwpf;Fk; njhFjp vJ? 

(1) tpir> ,lg;ngau;r;rp> fjp (2) tpir> ,lg;ngau;r;rp> Ntfk; 

(3) Ntfk;> Mu;KLfy;> Neuk; (4) J}uk;> fjp> jpzpT 
 

03) Mu;KLfypd; ru;tNjr myiff; rupahff; Fwpg;gJ 

(1) 𝑀𝑠−2 (2) 𝑚𝑠2 (3) 𝑚𝑠−1 (4) 𝑚𝑠−2 
 

04) epiyf;Fj;jhf Nky;Nehf;fp vwpag;gl;l nghUs; mjpcau; Gs;spia milAk; tiuapyhd 

Ntf - Neu tiuig rupahff; Fwpg;gJ 

(1) (2) (3) (4) 

 

 
 

05) fhl;lg;gl;l tiugpy; 𝐵𝐶 Fwpg;gJ 

(1) khwhNtfk; 

(2) Xa;T 

(3) rPuhd Mu;KLfy; 

(4) mku;KLfy; 
(5 × 2 = 10 Gs;spfs;) 

 rupahapd; ‘rup’ vdTk; gpioahapd; ‘gpio’ vdTk; vOJf. 

01) khwh Ntfj;jpy; ,aq;Fk; nghUs; xd;wpd; gUkDk; jpirAk; Neuj;Jld; khw;wkilahJ. 

 ( ) 

02) fjp Xu; fhtpf; fzpakhFk;. ( ) 

03) mku;KLfypd; myF 𝑚𝑠−1 MFk;. ( ) 

04) Ntfkhw;w tPjk; vd;gJ Mu;KLfy; MFk;. ( ) 

05) J}u - Neu tiugpd; gbj;jpwdpypUe;J fjpia ngwKbAk;. ( ) 

(5 × 2 = 10 Gs;spfs;) 

mikg;Gf; fl;Liu 

01) khztd; xUtd; Gs;sp 𝐴 apypUe;J tlf;F Nehf;fp 10 𝑚 J}uk; ele;J Gs;sp 𝐵 I 

milfpd;whd;. gpd;G Gs;sp 𝐵 apypUe;J fpof;fhf 8 𝑚 ele;J Gs;sp 𝐶 I milfpwhd;. 𝐶 

,ypUe;J kPz;Lk; njw;F Nehf;fp 10 𝑚 ele;J Gs;sp 𝐷 I milfpwhd;. 

(1) gazj;ijf; Fwpf;Fk; tupg;glj;ij tiuf.  

 ..................................................................................................................................................................... (5 Gs;sp) 

𝑽 

𝒕 

𝑽 

𝒕 

𝑽 

𝒕 

𝑽 

𝒕 

,lg;ngau;r;rp 

(𝒎) 

Neuk; (𝒔) 𝑨 

𝑩 𝑪 

𝑫 



 2  
 

(2) khztd; gazpj;j nkhj;j J}uk; vt;tsT?  

 ..................................................................................................................................................................... (5 Gs;sp) 
(3) khztd; mile;j ,lg;ngau;r;rpiaf; fhz;f.  

 ..................................................................................................................................................................... (5 Gs;sp) 

(4) Gs;spfs; 𝐵, 𝐶 ,y; jhkjpf;fhJ 𝐴 ,ypUe;J 𝐷 ,w;F gazpf;f vLj;j Neuk; 14 

nrf;fd; vdpd; mtdpd; fjpia 𝑚/𝑠 myfpy; fzpf;Ff.  

 ..................................................................................................................................................................... (5 Gs;sp) 

(5) RikAld; nry;Yk; thfdk; xd;wpy; 30𝑘𝑚/ℎ vd vOjg;gl;Ls;sJ. ,jd; tpsf;fk; 

ahJ?  ...................................................................................................................................................... (5 Gs;sp) 

 

02)  thfdnkhd;wpd; ,af;fj;Jf;fhd Ntf - Neu tiuG fPNo fhl;lg;gl;Ls;sJ.  

(1) gpd;tUk; Neu Mapilfspy; thfdj;jpd; 

,af;fk; vt;thwhdJ? 

(a) (0 − 20)  ...................................... 

(b) (20 − 𝑡)  ......................................  

(c) (𝑡 − 60)  ...................................... (6 Gs;sp) 
(2) thfdj;jpd; Mu;KLfy; vt;tsT? 

 ...................................................................... 

 ...................................................................... (5 Gs;sp) 

(3) thfdk; khwh Ntfj;jpy; nrd;w J}uk; 800 𝑚 Mapd; khwh Ntfj;Jld; ,aq;fpa 

Neuj;ijf; fhz;f. 

 ..................................................................................................................................................................... (6 Gs;sp) 

(4) thfdk; nrd;w nkhj;jj; J}uk; vt;tsT? 

 ..................................................................................................................................................................... (6 Gs;sp) 

(5) thfdj;jpd; ruhrupf;fjp ahJ? 

 ..................................................................................................................................................................... (6 Gs;sp) 

03) (A) nghUnshd;W caukhd ,lj;jpypUe;J epyj;ij mila 3 nrf;fd; vLj;jJ. 

(a) mJ epyj;ij milAk; NghJ mjd; Ntfk; ahJ? 

 ......................................................................................................................................................... (6 Gs;sp) 

(b) mJ tpOe;j cauj;ijf; fhz;f. 

 ......................................................................................................................................................... (5 Gs;sp) 

(B) 40 𝑚𝑠−1 vDk; Muk;g Ntfj;Jld; nghUnshd;W epiyf;Fj;jhf Nky;Nehf;fp 

vwpag;gl;lJ. (𝑔 = 10 𝑚𝑠−2) 

(a) nghUs; cr;r cauj;ij mila vLf;Fk; Neuj;ijf; fhz;f. 

 ......................................................................................................................................................... (5 Gs;sp)  

(b) nghUspd; cr;r cauj;ijf; fhz;f. 

 ......................................................................................................................................................... (5 Gs;sp)  

(c) nghUs; cr;r cauj;ij mile;J kPz;Lk; Muk;g ,lj;ij milAk; 

tiuf;Fkhd ,af;fj;jpw;Fupa Ntf - Neu tiuig tiuf. 
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